AFiEA
EHIRLEFEERPACKING LIST

FAF: PRERR1#
1,EESH:
TS: HW2023011236 FRRREER 3000kg
FBEEEL | THJ 3000/ 1- JXVF Bl FRENFE3000+—1A4L,
B/t 8/8/9 HER:
HHWR | 2200x2600x2500 FIIRT: F55P9% : 2000x2400
2 f885%:
FE &R FEEM Rd  |ags= e

FIERRE |IEHIAE, FB8Y, HRBSEHRETRSEE NiE]

REME  |BRERE, MIRIESR, BN, SRR A R

FEtRfE  |EEfR, THiR, (018, 571, HUBEIE, Jiw Nz

i Bk, BNE ] F—AHE

mitiE  |BERFERY, BLSRES, RN NiE]

SHXE|SIER, WiE, BH, SHED, 1842 ]

B51H | RSIFLRAN N

[INAE  |[JHUR SR iR EE Y, 1842 ]

118 |BIRERN, By i)

EFNE (|EHZRE, SHERKE, SEie BIREE

iR ER | ERRIRAAR A PIEEE

CEDEEES BIREE

BT (BRI RAE, RIE BIEEE

NEZR |NER, WEREK, FRRNT, 8BS BIREE

AER |[EKEEXZE, BIE, BE, BLR PIEEE

ety | ENeL4s, BSINLE N4

JdlanlalnlmIn|Z]ale|e|N|o|uv|s|win =

MER |XER s

18 |snmiEs| S, YBRE A5

TR AREINF (FR%DBERA—BRNER)

HlzR: B - % eE: [
BHERME: BRA:
ENER UL - HEHj:

R S AERSERAMEYVER. B8 BERFERN, NEBRSEZAESATEENREXERIR, FEBAHNSR. g S8F



M oR XK it B OB
g B HW2023011236 B/3/1] 8 / 8 / 9
RS THJ 3000 / 1- JXVF BN R 2200 X 2600 X 2500
B A RETRE: FEII1HERKET FAAIUE - 2000X 2400
e V=i R Al % i 5/ z B B 400 | P A | SR % E
. K E=2404
1 H %}ﬁiﬁ%éﬂﬁ 16#%% RS LR, 2 AR bR A ! %
2 | A SR b, Fepe e 170X 370, t=12 2 Y| w¥EfE R
iR FrUELE 300%310 2 1 10mm
3 | A HR xR B KE=2320 2 = 204FE 4N
4 | 4b R D400-7-10-16 kEe, AERRHTE 4 A | e dh A e gt
5 | 4b UBRIAG 165, =5/ 125 8 A | R
6 | H Bk B 1A KB LX 2260 2 B |z Rt
7 H R B P 145%180 2 B | wiEERER
- - e 1 BCLD-HC-L11,
8 | A 5 R 2 FrifE K. L=900 2 A LER96x06
10| B W R SEAE A KB L=3170 B R, WATES | 2 % | BRI
11| H SR il 16 HiAF 4 | B SAE
12 B R A5 LRI, B P 2264 XIR2600 1 &=
FMEBE ST 4 B 1A [=1132 2 s AMM
13| 4 T AT 63X 63X 63 it D16 FitF 4 A E il
o | M R R i L4l L=2404 2 ff | (R
o[ 15| H Gt 200X 260, t=12 2 B | R TR
o _ 2 #21.=2340X1100
16| H B [[RERL N R L=2014 1 = 1E21H
17| H BRI R S 48 Uiy 135X 50X 50 4 1 | TP A 22
18 | 4k I i 4 A | AR
19| H B R ARHAT @ 164ZFT 1=2200 4 % | SEECHC3ANMERE
20| H g URiiayiid L= 400 2 £ EaWag i
21| H PR T H DB10-3 L=3000 1 % BIHhEH
22 | H A BR AT HR S 48 TREbbRifE K. 1L=295 2 i
23| A P2 RN 2 DB10-9 1 %= P8Rk
24| H ! Uiiiayiid 1=930 4 % | 263805, JFRHIME
25| H [IHLSL R 0 0 % 0
26 | H LA A BLT90/B, %2 FL75X75 H103 51 5 ik 4 A
o7 b Yot FE I AR J7 NEAMR it 2 A /N
b R IHAR 7 RNEMR it 2 A
QJ 10T HE R 22 4041 GOl AYFEFiE : 5100KG L INEESy
w w S i 2| ik n/s , BT 16 nn | | & V2
29 | 4b LA R P Bk s, MARIATE: 2190 1 E | B LR L
30 | 4b L RUKSFF 5 S 48 1 £ | SRR
HREER R :
311 H Ja IEE R L=0, H=2500 0 y3
32| H Jiii FRBEAR L=0, H=2500 0 1t
# 133 A MET. 5 AR Hoeh—F IR AL 160 X 1153 L=460, H=2500 4 1
B 134 A ] BE R L=500, H=2500 6 | 1. 5mm&R iR 8
3B | H HITEEAR . L=132, H=2400 2 7| (KE7030)
36| H HIEERR R L =132, H=2400 2 I3
37| A B THE 1=2264, H=100 2 f:
TR 2 1015 2
38| H EX SR SinT] L70X 70X 6 L=250 23 f:
39| H EXlisa s L70X70X6 1=200 46 4
40 | A HIEE SO L70X70X6 L=1660 46 s A%
411 H RIS R i L70X 70X 6 =150 46 {t
S H TS E T ) L70X 70X 6 L=155 46 i
M|l 42| A Bl U 4 L70X70X6 1=1876 23 s
H FHEFE L50 X 50X 5 L=100 92 f:
H R 150X 50X 5 =500 92 4
\ 5K/%, BE: 14 % .
43 | 4 HHESH T90/B DR/ %, B 2 & 78 >k




ﬁ

4
N

=

®



MoK R

R E &

Hpe g B HW2023011236 B/i/17 8 / 8 / 9
Emis THJ 3000 / 1- JXVF BN R~ 2200 X 2600 X 2500
B AR BrREEAm 18 FIFLER U : 2000 X 2400
LR |5 | AR % K5/ 85 Z ok | % 0% | B (AR | s %
5K/%, HE: 14 % \
44 | 4k X E S TK5A K% KR 2 % 78 PN
45 | 4b T FHEER T90/B 14 i
46 | 4b A FHUEBAR TK5A 14 i
47 | 4k EFHEMN T90/B 122 A
3| 48| 4+ B FEUERS TK5A 118 A
Bolag] s 224 R 790/B 24 W BRALREEH
50 H 2 1 A e & K. 1.=900 2 fF | Fewp-ic-L11, FLEE96x96
53 | H SEHEA T90/B £=0.5mm, 1.2mm 88 s JE L
54 | H SRR TK5A £=0.5mm, 1.2mm 88 i JE
55 | 4h JEN S HEhE EAA 4 A
56 | H o B 48 1590 X 3600 1 = | ESHB
57| H hoJ B VR AR S 4 75X 60X 100 2 | ERfEX EYE
58 | 4b X ®400-7-10-16 B, JEpR I 2 A | IR ER
59 | 4F UBYRG 1650, =125 4 A ESUERE, i
60 | 4h R RE R 760 X 350 X 80 66 1 | k130, 58kg/1F
- 61 | 4 X} 5 S 13K #ert . B=17 4 A ] H
& 62 | H o} B B £ W L= 270 4 | SERAEXTER
63 | H Xof R AL PRt 2 E | Bl EY
64 | H W E SRR 270X 340 2 A | BERCEXT FE A
66 | H % & IE PR 1750 X 1220 2 s i
67 | i st 5 157 i L X 1220 0 ik R
68 | H NECR SR L= 390 8 %%
69 | H HEEEKE 6535, L=3000 2 %
70 | 4b Ve ks ] LD-HC-L11 2 A
s 71 | 4b X} P A S LD-HC-L17 1 A
S PrifEfE 4 f
72| H JRYTIEEA i FE: H=1500 2 i
. BWUOEHE : 1 m/s
(i 73| 4b PR 2% XSG608 [ 2 PR i 7% 4% . D8 mm 1 £ il L H
JiCHHZ JO 13k 5% 2k 1 J Jik
4| H FRRERR prifk L=300, H=80 8 i 15
|| meorszse (eio-s L= 375 4 g |FETO0/BCE TR
FiE Jii))
55 H FE AR 22 35 S0 3 bt & L= 390 9 % it T90/B
76| H PR TF R 226 5% H:1900 0 %%
H SR K10. 3 FLEE: 110 4 F
80 R 4 S AR B L=650, 1644H4N 0 %
81 | 4b B LA 8%19S+NF-10 Hfe: @10 1253 S 179K X 1%
| 82 [ 4 PR I 25 4N 22 4 8%19s+PP-8 Hit: @8 82 >k 82K X 1%
2 | 83 | 4b FLk @8 6 A
8 | 84 | 4 N ey D10 IR 427 14 £
81 g RS 0 0 £
85 | 4b R E ez 1 £
. 1500kg UK. 1m/s
86 | 4t A5 B, 51 L MCK300-3000-1. 0A ﬁi:—z[g?ggé} Ijj;gl'foov' dkw 1 & PIFIMCK300-3000
; . D400-7-10-16
i 87 H FHLLIER B I 650 X 280 1 £ | Q235 t1640HK
88 | B 7K Y P 150 X 466 1 £F ] Q235 t1659HR
88 | H B AT ESSKR | AR, 26— 600 X 320 1 1 | Q235 t164MHR
89 | A RHE e B 180X 290 1 £F ] Q235 1049

#2036




MoK R

O 1

e HW2023011236 B/¥/17 8 / 8 / 9
rmies THJ 3000 / 1- JXVF BRARS 2200 X 2600 X 2500
B4R REREE:: Fi1FARR DU - 2000X 2400
A )75 | hRiR 4 i K5/ Ms Zz ok | 5% 0% | B AR [ S & I
89 | A REER KE: 4400 32T AN, RS —4, Bl | 2 s B I
9 | H FREE R KJ¥: 4400 224, AL 2 i B 1]
91 | A B A 14#bFE4N 1.=700 2 4 14#b 4R
91 | H HGED T 14#bFl4N 1.=400 2 s 148b A4
92 | H IR T 2 2 36 A, AndEE DAL 4R FLEE: 240 1 i L=575
;!j 3 | 4 | mdk % B AE, AR ©400 710 16 ) A
b 24 H ke i) 5 B 1 1=1450 1 :
95 | H Sepke D $44e B =300 2 is Amm¥r 25
96 | 4 G ) B, JEAR I A ®400-7-10-16 1 A
97 | H Ak G ED) B L=450 1 i
98 | H AR (FED 4% B fE - 1=500 2 f 4mmfr 75
95 | 4b UZIAG 164, B :125 6 A | BCSUREE, I
96 | 4 AR SR AR 2R YN 153000+ 444k 1 = 22 kw
b LAFRIN 1 £
4p UCMPHR MCTC-SCB-A1 1 = TR
97 | 4b BEATHLAE . [UERAS B M 38.9 K 1 5 CACE T
98 | 4b DIV PN 4 A
199 | 4h RIS ETE] T 87 S LR B K AL 1 £
;ﬁi 100 | 4k YN LGS/XC-001 8 /8 /9 1 =
z 101 4 | Eshsngs GiiEbin LGS/XC-001 2 A
g [102] St 1k A £ LGS/XC-001 6 A
103 | 4k Tk A & LGS/XC-001 1 A
104 | 4k RIS 1 A
105 | 4k YL T A B AT 220V / 40W 2 A
106 | 4k SEA 2 ™
107 | 4b HLAR S 2 A TeEH
108 | 4b FL 20 1] 5 2% L= 1000 /% 8 %
109 | 4k BLG5 LA TR IZE: 22 kw 1 A 100A
110 | 4 LA AT BE AT 220V / 60W 1 A
1| 4k FELT AC220V 60WHy 4 28 7 A
112 4 | EUKSTF 6 1 A
;% 113 ] 4 LARRRIT 5 LX29-7/3 0 A
0 114 | 4h Lirsl 220VHIA%: & 8ORAT 6 £
f Ab SN 500%500 0 £
115| 4k R HIE AC220V#E EDC12V 0 A LEDAT H
16| 4 BRAZIT % (1370) 4 I~
b IR 1 A
117] 4k hUJT s 1 =
118 4k R X &} HD/BRB 1 i
119 4k BN SR BVARFRELH : 16 mm? 60 B
120 4 =P EL 3X0.75 mm? 20 K
121 4b 2. Smm“ i ZEHh 2k 20 B
122 4k 10mm2 3% 23 Hh 25 20 *
123 4h P B FEL AR I 92 R il 2 0 ES
124 | 4b BRLE Al 80X 60X 1. 2 5 %
125| 4k LAEEHAR 10 i
g | 126] 4b LB KA, 930 8 XK Bl
s 127] 4 SIRKE KA, 10 9 ES JriE
#h | 128 4k W ek @30 mm 4 A
fF {120 #b B ek ®10 mm 18 A
130 ] 4b BRI D13, B 6 K| RELH
131 4b R Sk @13, 90° 10 A
132 4h Je L 200mm 200 %
133 ] 4h 2K ks ®6 mm 253 R
134 | 4k M TR AR 3 &
135| 4k oA G L D) 40 A
136 | 4b H (O UT10-6 20 A
137 ] 4b LH M) SV1.25-3.2 40 A

#
=
-
(o)
b=l



Skyfree
对应主回路绝缘铜导线的BV标称截面:
 10mm²= 10mm²黄绿地线
  6mm²=  6mm²黄绿地线
  4mm²=  4mm²黄绿地线
2.5mm²=2.5mm²黄绿地线

Skyfree
对应主回路绝缘铜导线的BV标称截面:
 10mm²=UT10-6
  6mm²=SV5.5-6
  4mm²=SV2-4
2.5mm²=SV2-4



Mo R B

s

RS HW2023011236 BE/¥5/17 8 / 8 / 9
Emis THJ 3000 / 1- JXVF BRARS 2200 X 2600 X 2500
B4R REREE: FIIHFARKERT hoyPUR = 2000X 2400
AR F ] iR 2 K K5/ ME Zz ot | 5% 0% | B AR [ S %
138 H Ja TR 492 X 2264 1 i
139 A HHR TR ] 500 X 2264 2 8 | FT & 80 KT R AL
T 0 i it RIS A L 500 X 2264 ] | FFmEEAL
141 H HITHAR 492 X 2264 1 4
30U 593 sl
142 4k TFIIHL FEIT5E 2000 X 2400 | r: [1J). 96HBIk. PUE%%e| 2 & 7%: MJ:O4D7F37
(A5 AFids 1)) %,
. 144 H BT R B 2100X 800 2 s
H 145 BT HBIR 961K KB L=2400 0 s [ THLEC
46| H B AR FriEfE K. 1L=480 8 %
147 H TR 143 P 5 2000 X 240052 /iR L=525 H=2415 8 o T, BT
148 A B THhIRSHE oY B : 2000 K. 1=2400 2 % | Q235 t447%s
149 | 4h B NBEE OtHD) 917A61-AC220 2 kst
150 [ 4h I NES JRTIERE2000 2400 FEMPL 96K | ARAESE [ 9 ;ﬂf?%mm%
oy I b
155| H EITR 1. SmmAAAR 8 (JK €4,7030) L=525 H=2415 36 SRR IRE-Ea
H EX R PR 2365 9 G R
156 | H [ ERE 1. SmmR AR 28 (FK £4.7030) B=80 L=2120 9 % 0
H RESRYA L. 5mmAR B8 (J£47030) B=80 H=2420 18 las 0
157 WESYYS 1. SmmRAR 528 (JK £47030) 1015 9 %
H RESORENCED) 1. Smm R 1598 (JK £47030) B=80 H=2400 0 4 0
E 18 FIEHR B Pl 30X 75 0 f:
= T1s8] | B L g 0 1% ELian
U e | & PR bRvETT 50%55 0 o
60| H vARE:! 0 9 i
161 4b JZTHLR K& 3110 9 2%
162 B TR R B P K. 1=2400 9 i TS
163 H Z 1T R P 2050 X 400 9 i
164 [ FEP R TR 3 K LK 58
165| H FHIEF AN 3044 9 % L 4K/ %
166 | H THHRT RS 0.5, t1.2 88 vas JEL v 4% 2
167| H FERRTT R t0.5, tl.2 88 i JE 2
168 A 21 TR A R £:500 63 A
169 | 4t SHah (WL 5 kg
170 | 4b FATIIK 2 kg
171 4k RO 1 kg
172 | 4k W 3 kg
i 173 | F YL U L £
FefE[174] A RES RN ®8 mm, L=1000 0 .2 I
= ot > 20mm, KE200mm, EEEM>3mmILE 54 g | R VRRET
175 | 4h HiE 5 2 i
176 | 4 e 1K O 44 22 45 2 %
AR S IR YT " o
179 | 4b AMERE HZ$10 37 K 2 %
180 | 4k AMEBE T R E BWGLHKE, 1=1860 1 5
181 | Ab | MEEEE G B e g e L=510 2 s pagis
i 182 4k 1K O 84N 22 41 4 2%
= 3 |
™ Z; MR R q’;ﬁﬁ 12 .
185 | 4h URIRS (M12, FLEET72) E IR
186 | 4t B 2 A QJLO7Hr i =z A Bed sz IR £ | X EHIE: 1626

940

6 W

7N ~




RN & S

LA

Errgme HW2023011236 E/¥/1] 8 / 8 / 9
Emie THJ 3000 / 1- JXVF B AR~ 2200 X 2600 X 2500
JRE Y R ERRE:: FEI1H M R~ T UUE - 2000X2400
Y Dhes & W A K5 /He Z I ESA A TR B % JE
1| PSR S S B2 M16 X 55 B8, mask . WERE A1 | 30 = | 8.8 {AEM
2 | SRS Rg IZHE M16 X 50 BoTH, gk, WBRE 0 E B
3 |SHE PR, A B2 M16 X 70 BB, s, WBEE | 16 £
4 | BRSBTS IEHE M8 X 25 Br-pah, gpdl, R} 16 i
5 | FBETEE RRAT 12 M12X40 AP, gpdk . R} 0 B 3L
I R T2 EE M8 X80 BooT3, AL, ik 12HH 8 £
7 |FIEE 12 M12X90 BPH, gpEs . R} 2 =
8 | MR RIRAER: IZHE M12X45 BOSU A, st WBRE | 20 £
9 (MBS AR 5 AL 4 IZEE M12X45 Br-Pah, gpdk. B2} 4 %=
10 [ITIHLI S48 15 e i B2 M12X45 Aok, spdk, WEE) 4 =
L IS TR ST IR S B2HE M12X45 Bo-PHe, spsk, WEE) 8 £
B 12 ISk E TP e 48 B2k M12X45 Bi~fdh, gpdk, BREE 8 £
13 [ PRSI 2 M16 X 55 Bl P, gRER . R WERE | 24 £ | 8.8 HAM
14 | PR EA I M12X45 BOO G A, st WREE | 12 £
15 | PRt 2 44l H2FE M16 X 60 BooP3R, AL, ik 12RH 8 i
16 | A SH AR, BAERE I M12X40 BT, JiRHEA. Bk WBLH 12 E5]
17 | AF 5 ST 12 EEM16 Bo2 X P, g, 3XUERE | 0 = L2 it
18 | fiF SHATH B2FE M16 X 90 fo P, gk, WBRE 4 £
19 |R#ER: IZHE M18X 50 BOoT3R, bR, gk, 2R 14 £
20 | At 5 Hh AN 2 M16 X 50 BOoT3R, Al sk, WERE 12 S
21 |51 THbIR 5 Hh IR AE AR BE K M8 X 40 BOoT3h, il sk wERE 10 £
22 |HE 5 5. IS AR B2HE M12X40 Bo-PHe, spsk, WEE) 4 £
23 |BERR S A BE K M8 X 30 BOoT3h, g, ERE, B3| 52 £
| 24 |RERRGER: BEHE M6 X 20 Br-pah, gpdl, R} 120 B ERIZEZ CHFED
B | 25 |HUEERR SEROH T2 EE M8 X 20 BoTH, ghsh, AR 6 £
26 |BERR S5 THRR BE K M8 X 30 Br-pah, gpdl, R} 52 i
27 |FES . OKIBE) ZEIEEEEAKEE M12x120 AFERCIE . BB WBR} | 334 s P
28 |FERD [ (HEHE) FREIERE MI2X280 | SR, SFHGpE R | 0 %
o 29 |CHEE: 12K M12X45 Br-pa, gpdl, R} 102 £
ﬁ 30 | EIUER B2HE M12X45 BPH, gpEs . R} 152 = 13K
31 |EIBERS B2HE M12X45 Brpih, gpek . B2} 102 = T5K
32 | EPEER I2FE M12X 45 BPH, gpEs . R} 122 =
33 |RIHUEEAR IZEE M10X30 Br-pa, gpdl. R 122 =
3 [MERE IEHE M8 X 25 BoTH, gk, WBRE 8 £
35 |WMEESTE BE K M8 X 25 [ N 8 =
b | 36 | E Rk 2 B2 M10X 40 BPH, gk, R} 4 E | maEoismg
B | 37 [EA S ESH I2EE M10X 30 Br-pah, gpdl, R} 30 Sy
38 | X} FE S S5 hAr I2H: M8 X 25 A P, gish, 2R 8 £
39 I EIIR S TR L B2FE M10 X 25 BoTH, gk, B 24 £
JEYL| 40 | R S5ED ZEBBEERAE M12x 120 RN 12 =
AR | 41 | PR AR 5 PR g AR T2 EE M8 X 25 BooTH, gk, WBRE 4 £
LRAT 42 | PR 3% A ] B K B M10 X 80 AP s, IER) 0 4 T sk
43 | PR Ze s 4 5 A R 57 48 IZHE M10X 25 BPH, gpEs . R} 12 =
o 44 W PRS2 A5 S8R B2HE M12X45 Bo-PHe, spsk, WEE) 12 £ T13K
045 | pmmb s e 12 M6 X 20 fOdE PR #iHk. ERE | 8 S
46 |FRHIRZZE S S 8UERY IZEE M12X45 Br-pah, gpdl, R} 16 = T13K
YR EEIRSEN RS M24 X110 FoPEh . B Rl QUER | 4 = 8.8 4
By | 48 | EHLER G 4apid s 1R M8 X 25 Bl Pk, madh . jEk) 8 =
2] | 49 | R I HLIHA: R e ZEISEEERKIE M12x120 ARG, ik, BREE | 12 X A 5%
L BT LB A [ e 12 M20 X 65 AEF 3R, SR, 18R] 0 53 8.8 %
50 |FENUEE SR ER BEAEM16 X 45 FOTRIEA, PR R | 0 z= 8.8 %&
51 |F& ka2 B2 AL M10 X 80 FFET-HE ik W2H} 4 * W E A 4%
52 |FiE W4 2 KIBET 4X40 176 ¥
- 53 PEHIFRME IZFE M6 X 30 v, sk, WREE | 8 =
F | 04 |k E I IR M8 X 25 EHTHE, . B | 4 #
55 |RyTR IS 2 I 2 kE M8 X 80 AL T3R8, ik, 126} 4 53 A SE A 4%
56 |SuE &l E AR IEAE M8 X 80 FLFET- 5 g, ik Zh} 4 3 W EA 4%
57 |HRAE AL ] E E(EBEEHEE M12x120 AFEIAE . BB 2R} 3 b

&
=
H
o
=


Skyfree
Skyfree:
114轨用M16X55


B R B B B
e HW2023011236 B/¥/17 8 / 8 / 9
Emis THJ 3000 / 1- JXVF B R~ 2200 X 2600 X 2500
B AR REEE: F I ARKERT hADUE : 2000 X 2400
Eidiaias OB A Fel 5/ Zz ok | 5% 0% | B AR [ S %
58 ML HLE AR I 2 Ak IEAE M8 X 80 AFETIE . BE. 18R 4 ¥ W iE A 5%
59 | SR £ il [ 5 JKYeE] 4X40 127 %
60 | FEUKSTF 54 [# & 5 Sk 48 FE M5 X 40 AFEFIE . BB 18R 4 £
Hse| 61 |fAR T e 54 S M5 X 40 ALFE T8, ik, 126} 0 £
FofE| 62 [f5 /e E3h 722 B W JEZAKIEAE M8 X 80 AIEFIE . BB 18R 0 ¥ W iE A 5%
63 | M55 Lt JEZ KA M6 X 50 AEFIAE, BEk, WREE ) 25 % A 5%
64 |BL55 Lol sk B2 M6X 25 40 S
65 |4l 5 [ e B2 22 M4 X 10 60 5
66 |41 TS LA fldR M2 M10X 25 [ s £
67 I WL 511 %% 124 M10X 30 Bi-FH, BpEs IBRE £
BT 68 |11 IR 55 BEKE M8 X 25 fooFE, gpEs, R 10 £
69 |IIBE5ITR%EEE B2 M10 X 25 R 0 £
70 |FHIRRCE A SR 12 M8 X 25 AT, g, BRE 10 £
71 |NERE K AZAEM10 X 80 ARG, Ek, WREE | 54 E
72 |BIvESE 3k 2 M10X 30 AR, . 2R | 54 &=
73 B S IR 12K M10X 30 R e N 36 £
R IRESE:S S B2HE M8 X 35 BT, gRE, R 28 £z
B 75 |Hotkzedss 1R M8 X 25 AT H B, ghas 73 £
76 |HbIRFCIR LR ZE(BBEEREE M12x120 ALFEFEE B, R | 122 = Toek
77 |1 S B2KE M10X 30 AIETILE .. B, 128 0 = AR
" s H B E22 M5. 5X 19 40 S
78 i Fr BRIZHFENMS X 100 20 £
79 |k AR 7] S B 22 M6 X 25 EIE T BEE 22 £
s NI RS M6 X 16 BiET e, 0 = .
80 |II¥Edety | THR 2% rpTE—" 5 = BFEH]
81 [§ RS2 1 THbR T 4R 2% PULIEHE M5X 15 AT HE gk 52 Z 1=
82 |J AR 5 | T R FE SR 2 VUSKIEAE M8X 15 AIETHME, H 10 = i
Fof f N R e Al B2 M16 X 60 B P, Rl sadk, BERH 0 £
AR e iR v BEHE M6 X 35 ALFEFHE, B, e | 154 £
bzl e S 12 M5X 50 AREFIE R, REE | 40 =




